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1. XxHH|

IHEEEX| B /5008 /5 L500 x W500 x H50 ea 33,000 |#2{7t4 20254 07E p.254
DHEEEX| B /5005 /27K L250 x W500 x H50 ea 16,500 | A2 742 20254 07 p.254
IHEEEX B /600 /= L500 x W600 x H60 ea 45,000 (H2h7+H 2025 07& p.254
DHEEEX B /600 /S 7K L500 x W600 x H60 ea 45,000 |AH2§ 7+ 20254 07 p.254
DHSEEX] B /10008 /AT /= L500 x W1000 x H75 ea 75,000 (H2h7H4 2025E 07 p.254
DHEEEX] B /10005 /A /274 L500 x W1000 x H75 ea 75,000 (H2H7t4 20254 07 p.254
NHSEEX E /10002 /B /58 L500 x W1000 x H75 ea 70,000 (H2H7t24 2025E 07 p.254
IS EX| /10005 /BY /LN L250 x W1000 x H75 ea 35,000 |27t 20253 07& p.254
IHEHX] §/20008 /56 L500 x W1000 x H75 ea 70,000 (H2H7t4 2025 07 p.254
IHEEEX] E /20005 /71 L250 x W1000 x H75 ea 35,000 |72{7+4 2025'4 07€ p.254
27 50KW CH 19,415,000 (A-EX 4k 2025 p.768
4e 0.001%(X 7= L 1,705 | A2 7t 20254 07 € p.1451

20253 A|S = ATt

2.217AH]|
Sdog 2l 221,506 |CHSHAM S S| 2025 AtEH7| Al
BE8 2l 169,804 et H | 20251 AHt7| A|F
LEL7| A2 - AL 2l 170,920 |CHStAMT S| 2025 47| A|F
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1. BSUX EHX]
Egos 37,656 37,656 (221 / 12m(1L Al B2
H2Eols 42,451 42,451 |391 7 12m(1Y Al5Eh
M =H| 80,107 2,403 2,403
[ Aj 2,403 80,107 82,510
2. WESH U ATAE
H2Eos 28,867 28,867 29! / 12m
[ A 28,867 28,867
3. YH7| 50KW - "A|Zhet
=HH| 19,415,000 4,586 4,586 | A 2025 p.768
4% 1,705.00 14,834 14,834 |HAE L 2025 p.768
M= H| FAZO| 24% 14,834 3,560 3,560 | A= 4 2025 p.768
L7 A2 35,551 35,551 [HEX L 20254 p.768
[& A 18,394 35,551 4,586 58,531
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1. Xpj|

IHSEX| /5008 /FS L500 x W500 x H50 1 ea 33,000 33,000 33,000
DHSEEX|E/500F /7N 1250 x W500 x H50 2 ea 16,500 33,000 33,000
[ Aj 66,000 - - 66,000
2. AXH|

ISR E HX| 1 m 2,403 2,403 80,107 80,107 82,510
DEESH A ATHE| 1 4 28,867 28,867 28,867
E 50KW 1 HR 18,394 18,394 35,551 35,551 4,586 4,586 58,531
(2 4] 20,797 144,525 4,586 169,908
(g 4l 86,797 144,525 4,586 235,908
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1. Xpj|

IHSEX| /6008 /F S L500 x W600 x H60 1 ea 45,000 45,000 45,000
ThEEK| B /6002 /2 7Y L500 x W600 x H60 1 ea 45,000 45,000 45,000
[ Aj 90,000 - - 90,000
2. AXH|

ISR E HX| 1 m 2,403 2,403 80,107 80,107 82,510
DEESH A ATHE| 1 4 28,867 28,867 28,867
E 50KW 1 HR 18,394 18,394 35,551 35,551 4,586 4,586 58,531
(2 4] 20,797 144,525 4,586 169,908
(g 4l 110,797 144,525 4,586 259,908
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1. Xpj|

THSHX|E /10008 /AH/E 8 L500 x W1000 x H75 1 75,000 75,000 75,000
DHEEEX|E/10005/AY /27N L500 x W1000 x H75 75,000 75,000 75,000
(2 A) 150,000 150,000
2. AXH|

ISR E HX| m 2,403 2,403 80,107 80,107 82,510
DEESH A ATHE| 4 28,867 28,867 28,867
Efal 18,394 18,394 35,551 35,551 58,531
(2 A) 20,797 144,525 169,908
(g 4l 170,797 144,525 319,908
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1. Xpj|

IHSYX| 8 /10005 /BYE/B 5 L500 x W1000 x H75 1 70,000 70,000 70,000
DHEEEX| /10005 /BH /D 1250 x W1000 x H75 35,000 70,000 70,000
(2 A) 140,000 140,000
2. AXH|

ISR E HX| m 2,403 2,403 80,107 80,107 82,510
DEESH A ATHE| 4 28,867 28,867 28,867
Epdl 18,394 18,394 35,551 35,551 58,531
(2 A) 20,797 144,525 169,908
(g 4l 160,797 144,525 309,908
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1. Xpj|

TS| E /20008 /55 L500 x W1000 x H75 2 ea 70,000 140,000 140,000
DHES K| E /20005 /2710 1250 x W1000 x H75 4 ea 35,000 140,000 140,000
(2 A) 280,000 - - 280,000
2. AXH|

/e IONI=TP~ PN 1 m 2,403 2,403 80,107 80,107 82,510
DEESH A ATHE| 1 4 28,867 28,867 28,867
E 50KW 1 HR 18,394 18,394 35,551 35,551 4,586 4,586 58,531
(2 A) 20,797 144,525 4,586 169,908
(g 4l 300,797 144,525 4,586 449,908




